Chapter 8

EXERCISE 8-2 (10-15 minutes)

	Inventory per physical count
	$441,000

	Goods in transit to customer, f.o.b. destination
	+  38,000

	Goods in transit from vendor, f.o.b. seller
	+  51,000

	Inventory to be reported on balance sheet
	$530,000


The consigned goods of $61,000 are not owned by Oliva Corp. and were properly excluded.

The goods in transit to a customer of $46,000, shipped f.o.b. shipping point are properly excluded from the inventory because the title to the goods passed when they left the seller (Oliva) and therefore a sale and related cost of goods sold should be recorded in 2002.

The goods in transit from vendors of $83,000, shipped f.o.b. destination, are properly excluded from the inventory because the title to the goods does not pass to Oliva until the buyer (Oliva) receives them.

EXERCISE 8-4 (10-15 minutes)

	1.
	Raw Materials Inventory

	8,100
	

	
	
Accounts Payable

	
	8,100

	
	
	
	

	2.
	Raw Materials Inventory

	28,000
	

	
	
Accounts Payable

	
	28,000

	
	
	
	

	3.
	No adjustment necessary.
	
	

	
	
	
	

	4.
	Accounts Payable

	7,500
	

	
	
Raw Materials Inventory

	
	7,500

	
	
	
	

	5.
	Raw Materials Inventory

	19,800
	

	
	
Accounts Payable

	
	19,800


EXERCISE 8-4 cont.

Entries No. 1 and 4 must be reversed after the closing entries have been recorded, dated January 1, 2003. Not doing so would result in the duplication of the purchase entry in the case of entry No. 1. In the case of entry No. 4, the adjusting entry removes the recording of the purchase in the wrong accounting period. The purchase has to be recorded in 2003, when the goods were actually received.

EXERCISE 8-5 (15-20 minutes)

	(a)
	Inventory December 31, 2002 (unadjusted)
	$234,890

	
	Transaction 2
	13,420

	
	Transaction 3
	-0-

	
	Transaction 4
	-0-

	
	Transaction 5
	8,540

	
	Transaction 6
	(10,438)

	
	Transaction 7
	(10,520)

	
	Transaction 8
	      1,500

	
	Inventory December 31, 2002 (adjusted)
	$237,392


	(b)
	Transaction 3
	
	

	
	
Sales
	12,800
	

	
	

Accounts Receivable
	
	12,800

	
	(To reverse sale entry in 2002)
	
	

	
	
	
	

	
	Transaction 4
	
	

	
	
Purchases 
	15,630
	

	
	

Accounts Payable
	
	15,630

	
	(To record purchase of merchandise in 2002)
	
	

	
	
	
	

	
	Transaction 8
	
	

	
	
Sales Returns
	2,600
	

	
	

Accounts Receivable

	
	2,600


EXERCISE 8-12 (10-15 minutes)

(a)
1.
Net income for 2002 is overstated by $21,000 because beginning inventory is understated.


2.
Net income for 2002 is overstated by $5,430 because purchases are omitted.


3.
Net income is understated by $1,300 because proper accrual for interest revenue is not made.

(b)
1.
No effect.


2.
Accounts payable understated, retained earnings overstated, $5,430.


3.
Interest receivable understated, retained earnings understated, $1,300.

EXERCISE 8-15 (15-20 minutes)

	(a)
	Cost of Goods Sold
	
	Ending Inventory

	
	1.
	LIFO
	500 @ $12 =
	$  6,000
	
	300 @ $10 =
	$3,000

	
	
	
	500 @ $13 = 
	    6,500
	
	300 @ $12 = 
	  3,600

	
	
	
	
	$12,500
	
	
	$6,600

	
	
	
	
	
	
	
	

	
	2.
	FIFO
	300 @ $10 = 
	$  3,000
	
	500 @ $13 = 
	$6,500

	
	
	
	700 @ $12 = 
	    8,400
	
	100 @ $12 = 
	  1,200

	
	
	
	
	$11,400
	
	
	$7,700

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	(b)
	
	LIFO
	100 @ $10 =
	$  1,000
	
	
	

	
	
	
	300 @ $12 = 
	3,600
	
	
	

	
	
	
	200 @ $13 = 
	    2,600
	
	
	

	
	
	
	
	$  7,200
	
	
	

	
	
	
	
	
	
	
	

	
	
	
	
	
	
	
	

	(c)
	Sales
	$25,400
	= ($24 X 200) + ($25 X     

    500) +  ($27 X 300)

	
	Cost of Goods Sold
	  11,400
	
	
	

	
	Gross Profit (FIFO)
	$14,000
	
	
	

	
	
	
	
	
	
	
	

	
	Note:  FIFO periodic and FIFO perpetual provide the same gross profit and inventory value.

	
	

	
	

	(d)
	LIFO matches more current costs with revenue. When prices are rising (as is generally the case), this results in a higher amount for cost of goods sold and a lower gross profit. As indicated in this exercise, prices were rising and cost of goods sold under LIFO was higher.


EXERCISE 8-16 (20-25 minutes)

	(a)
	1.
	LIFO
	600 @ $6.00 =
	$3,600
	
	

	
	
	
	100 @ $6.08 =
	     608
	
	

	
	
	
	
	$4,208
	
	

	
	
	
	
	
	
	

	
	2.
	Average cost
	
	
	


	
	Total cost
	=
	$33,655*
	= $6.35 average cost per unit

	
	Total units
	
	5,300
	

	
	
	
	
	

	
	 700 @ $6.35 =    $4,445
	


	*Units
	
	Price
	
	Total Cost

	600
	@
	$6.00
	=
	$  3,600

	1,500
	@
	$6.08
	=
	9,120

	800
	@
	$6.40
	=
	5,120

	1,200
	@
	$6.50
	=
	7,800

	700
	@
	$6.60
	=
	4,620

	   500
	@
	$6.79
	=
	    3,395

	5,300
	
	
	
	$33,655


	(b)
	1.
	FIFO
	500 @ $6.79 =
	$3,395
	
	

	
	
	
	200 @ $6.60 =
	  1,320
	
	

	
	
	
	
	$4,715
	
	

	
	
	
	
	
	
	

	
	2.
	LIFO
	100 @ $6.00 =
	$   600
	
	

	
	
	
	100 @ $6.08 =
	608
	
	

	
	
	
	500 @ $6.79 =
	  3,395
	
	

	
	
	
	
	$4,603
	
	

	
	
	
	
	
	
	

	(c)
	Total merchandise available for sale
	$33,655
	

	
	Less inventory (FIFO)
	    4,715
	

	
	Cost of goods sold
	$28,940
	

	
	
	
	

	(d)
	FIFO.
	
	


